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CIRIG_RAWCTIZT 0D
0:2 0:0) 7 7.0
TRSUMD(2) 54 TRSUMOCT) TRSUMDCD> & TRSUMTCT) 132 = TRSUMT(D> H = ground .
TRSUMO(4) e TRSUMO(3) ground o~ s TRSUMT(3) A TRSUMT (2) e ground 22z
TRSUMB(T) e TRSUMD(E) TRSUMB(5) 3t TRSUMT(5) 1 TRSUMT (4) R ground 223
TRSUMO(S> o TRSUMO(S) ground - 10 TRSUMTCT) 15 -4 TRSUMT(5> 180 4 ground -
TRSUMOC11) ol TRSUMOC10) TRSUMT (10) % TRSUMT(9)  — TRSUMT(8)  — ground 2
TRSUMBC13) 5o TRSUMAC12) ground 2 215 TRSUM7(12) — TRSUMTC11> — ground 2t
TRSUMBC15) ol TRSUMBCT4) TRSUMTC15) & o TRSUMT (14> 159 =t TRSUMTC13) 182 =1 ground al
5 TRSUMI (2 < 8A—2—/ TRSUMI (1 TRSUMI () % TRSUMG (1) D TRSUMG (0> D ground -
@ TRSUM1 (4 2 od TRSUM1 (3" ground — s TRSUME(3) Al = TRSUMB(2) 185 = ground 2
g TRSUM! (7> e TRSUM1 (6" TRSUM! (5) e TRSUME (5> 1z 4 TRSUME (4> 188 % ground 20
g TRSUMI (9) ‘ TRSUMI<8) ground % TRSUMBC T 143 ‘ TRSUME(6) 187 ‘ ground 231
s B 100 6:19 144 59 188 68 232
J TRSUMI (1) —, TRSUMT (10> TRSUMB(10) — TRSUMG(9) 1 TRSUMG(8) & around
TRSUMI (13> e TRSUMI (12> ground 10t s TRSUME (12> N R TRSUMB (11> 18— ground 2
TRSUMI (15) = TRSUMI(14) TRSUMB(15) 10z 5 TRSUMB (14> — 2] TRSUMB(13) 150 =0 ground &
TRSUM2(2) 5 TRSUM2(1) TRSUM2(0) 108 TRSUMS (1 A TRSUMS(0) Bt = around &5
TRSUM2 (4> = TRSUM2 (3> ground 109 - TRSUMS (3> 18 = TRSUMS (2> 12 = ground £
TRSUM2(T) = TRSUM2(6) TRSUM2(5) 185 TRSUMS (5) 19 = TRSUMS (4) 198 = ground e
' 108 150 ' 194 ) 238
TRSUM2 (9> = TRSUM2 (8> ground - 510 TRSUMS(T) - = TRSUMS (6> g ground =
TRSUM2 (1) —, TRSUM2(10) TRSUMS(10) TRSUMS(9) 1 TRSUM5(8) e ground
TRSUM2(13) 7 TRSUM2(12) ground 108 S TRSUMS (12> e~ TRSUMS (11> % ground 0
TRSUMZ(15) 55 TRSUM2(14) TRSUMS(15) 109 e TRSUM5 (14 153 - TRSUMS(13) 19 o ground &
TRSUM3(2) = TRSUM3 (1) TRSUM3(0) 1o TRSUMAC1) 151 e TRSUM4(0) 158 = ground 2
TRSUM3(4) = TRSUM3(3) ground 1 s TRSUMA(3) 155 o TRSUMA(2) 199 4 ground 24
TRSUM3(T) 5 TRSUM3(6) TRSUM3(5) 1e TRSUMA(5) 128 i TRSUMAC4) 200 e ground .
TRSUM3(9) ot TRSUM3(8) ground 13 a1 TRSUMA(T) o Erd TRSUM4(6) 20t T ground —
TRSUM3 (11> s TRSUM3C10) TRSUM4(10) 1 TRSUM4(9> B TRSUM4(8> o4 ground ze
TRSUM3(13) s TRSUM3 (12> ground 1S a1 TRSUMA(12) — TRSUMAC11) S—n ground —
- TRSUM3 (15> TRSUM3(14) TRSUMACI5) He TRSUMAC14) 160 TRSUMAC13) 0 ground —
& ground ground ground 17 ground 161 ground 205 ground 243
P3(263:0) ETSUM3(1) ETSUM3(D) ground e ETSUMACT) 162 ETSUMA4CD) 206 ground 250
ETSUM3(3) 3 ETSUM3(2> ground 13 ETSUMA(3) 163 N ETSUM4(2) 21 N ground 2l
ETSUM3(5) 33 ETSUM3(4) ETSUMACE) 120 ETSUM4(5) 164 %3 ETSUMAC4) 28 A2 ground =
ETSUM3(T) =N ETSUM3(6) ground 121 A ETSUMS (0> 165 %5 ETSUMACT) 28 43 ground 253
ETSUM2(1) =N ETSUM(B) ground 122 ETSUMS(2) e ETSUMS (1) 2o A7 ground 254
ETSUM2(3) &l ETSUM2(2> ground 123 ETSUMS (4> 167 3 ETSUMS(3) 2l 3] ground ==
P3(127:0) = P3_TRIG(7:0:15:0> = TRIG_RAW(127:0) ETSUM2(B) 2,3 ETSUM2(5) ETSUM2(4) 124 ETSUMS(6) 168 5:4 ETSUMS(5) 212 5:3 ground 256
P3CISIIIZE) = PSET(T:0:7:0) = ETRAN(E3:0) ETSUMI (B =N ETSUMR(T) ground 125 & ETSUMBCO> 16s %6 ETSUMS(T) 2 5% ground 251
P3(2631192) = Ground ETSUMI (2 N ETSUMI (1> ground 128 ETSUME(2) Lo 80 ETSUMB(1) 2 = ground 58
ETSUMI (4 L ETSUMI (3 ground 127 ETSUMB(4) 1 82 ETSUMB(3) 215 8! ground 259
ETSUMI (6> N ETSUMI (5> ETSUMB(T) 128 ETSUMB(6) 283 ETSUMB(5) 26 8 ground 260
ETSUMOCO> Lé ETSUMI(T) ground 129 &7 ETSUMTC1) L 8 ETSUMT(O> e 82 ground 28!
ETSUMB(2) 8.0 ETSUMBCT ground 150 ETSUMT(3) 1 I ETSUMT (2> e 10 ground 282
ETSUMBC(4) oy ETSUMB(3) ground L3t ETSUMT(5) L ETSUMT (4 2s  IZ ground 263
ETSUMOCT) &g ETSUMOCE> ETSUMOCS) L ETSUMTCT) Lig LS ETSUMT(6> = LN ground 264
0:7 0.5 T 7.6
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